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&S NEstol AYol ME HIASEY JNE T B, NPV H4E ey ol

14, 12% 24, 12% 34, 12%

el A4 1.12 1.254400 1.404928
LEE S 1.0 2.120000 3.374400
Bap7iFA5 1.0 0.471698 0.296349
A A5 0.892857 0.797194 0.711780
daANgs 0.892857 1.690051 2.401831
A 1.12 0.591698 0.416349

4 K9] dF2ES AN YAl gag

HASE BIRp (|7 X7 {1
19 10,000,000 0.892857 8.928.570
10.000.000x1.03
W
28 =10.300.000 0.797194 8.211.098
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o) ) 7HA) A 4 1.12 1.254400 | 1.404928 | 1.573519 | 1.442897 | 1.630474
o e & 7HAl 1.0 2.120000 | 3.374400 | 4.779328 | 3.406900 | 4.849797
aA7I A 1.0 0.471698 | 0.296349 | 0.209234 | 0.293522 { 0.206194
FAZEA AT | 0.892857 | 0.797194 { 0.711780 | 0.635518 0.693050 | 0.613319
A EHAF | 0.892857 | 1.690051 | 2.401831 | 3.037349 2.361153 | 2.974471
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DI EAAIS | SAZIRAIS | HFBUBIS | a7 XA | smi7 i HSHI A%
(10%) (10%) (10%) (11%) (M%) (11%)
1d 1.1 0.909091 | 0.909091 1.11 0.900901 | 0.900901
2 1.210 0.826446 | 1.735537 | 1.2321 | 0.811622 | 1.712523
3d 1.331 0.761315 | 2.486852 | 1.367631 | 0.731191 | 2.443715
4 1.464 0.683013 | 3.169865 | 1.518070 | 0.658731 | 3.102446
59 | 1.610510 | 0.620921 | 3.790787 | 1.685058 | 0.593451 | 3.695897
6d | 1.771561 | 0.564474 | 4.355261 | 1.870415 | 0.534641 | 4.230538
Td | 1.948717 | 0.513158 | 4.868419 | 2.076160 | 0.481658 | 4.712196
83 | 2.143589 | 0.466507 | 5.334926 | 2.304538 | 0.433926 | 5.146123
99 | 2.357948 | 0.424098 | 5.759024 | 2.558037 | 0.390925 | 5.537048
109 | 2.593742 | 0.385543 | 6.144567 | 2.839421 { 0.352184 | 5.889232
11 | 2.853117 | 0.350494 | 6.495061 | 3.151757 | 0.317283 | 6.206515
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EX7A ¢ g +35% peT O‘L'/?‘E)r. 7f-§\{ﬂ£()’=,_’i?r
AE7IA s —25%
ol 7ER A4(10d, 12%) 3.105848
EEFE7HAT(109, 12%) 17.548735
DA FASE0R2%) 0305698477
AR A (10d, 12%) 0.321973
AFH/MAF0d, 12%) 5.650223 _ gFT—
AAFa(109, 12%) 0.176984 W = (/{ - &
ol & ﬂj()j— ol o &
Ry=Y1—4,1/Sn Gy eEWT (1_.a_ JFF
=0(.12—0.35(0.056984)
. =0.1000556
Rg=Yg—Agl/Sn 3
—0.12—(—0.25)(0.056980) 2R ER%
=0.134246
i R v
15,008,340% 0.1000556 150,000.000
64.991.660% 0.134246 484,123.624%
T 80,000,000 634,123,624°

I, = 150, 000, 000x0. 1000556

=15, 008, 340
1 =80, 000, 000 — 15, 008, 340
= 64,991,660
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— 484, 123, 624

V =150, 000, 000 + 484, 123, 624
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Y=R+ CR 4% o8
R = 10,000,000/100,000,000 = 0.10 (10%)
Y=R+ CR
= 0,10 + 0.04
% . =0.14 (14%)
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FEU TRI= Po2rel ¥ w7l slojof ofevfr ¢ 84, 5% mef o[22 x| A e
~ EROE 0% 3.050023, BAZIRIAITE 0.326902, 25712 Sk 0.072850, X Hab= 0.22285, ._.:.E_?%
HEe 4481322, HSE7PHI$E 13.7268190(C),
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" #GAS BY Y =R +A1/Sn BEL AR
Y =R+ A1/Sn
0.15 = 0.10 + A(0.072850)
= (.6863 (68.63% 4=

o2 1.686330
( HP-12C o] &3 A&
15 i
-1 PV
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then, FV = 1.6863
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0.15 = 0.10 + CR



=178, 456, 480
V, =89, 746, 440 + 78, 456,480
= 168, 202, 920

(2X(30] o =Rloi=2l 50,000,00080! GiAtEls SS4S 625000000800 Felsio] 5 Be =
MIESEZ |2 Stk 48 15%8 7103 SXXEE 54 % dojol iEs < 9)e Al
COF LSS €, 53 15%Y tle] 0[EZIXAISE 2011357, ABEIIHL 6.742381,
HWISAT= 0148318, BUIIX|AE 0497177, HIBIIAISS 3352155, K{oHabee
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Tea2ERD Y =R + Al/Sn 4L oL foled
R==50, 000, 000/625, 000, 000=0.08 '
Y=R+ a1/Sn ‘
0.15=0.08+ »(0.148316)
A= 47
CzﬂﬂHE# =625, 000, 000=1.47 = 918, 750, 000

[ZXH31Y 106 2R71ZkSet 0fd 60,000,000802) #=2Ici5210] oA=Lt o] 7|ZHEot EXi2f 77|
= X% S8 U2 diED, ASe| IR 0% B4Av) oAEC A EX|9ko) 7%
= 90.000,0000|ck FoIE 10%2 FEMe| J1XE 5, o, 109, 10%Y we o247t
ANTE 2593142, AFBIPTE 15937425, I IBASE 0.062745, HIRA S
0.385543, HAZEIAIT= 6.144567, XA 0,1627450]C),
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TEESEI Y =R+ ALl/Sn 2L o]4
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L 7.305,885% 0.08177% 90.000.000
B 52.694.115% 0.131373% 401.104,607%
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2. Jis8t 2l aAH
Ry =12x0.013215=0. 15858
= 38,461, 538/0.15858
= 242,537,132

. FENMY IR & sHaE
V0=leM

=242,537,132/0.75 —_ y, —
=323, 382, 843 ~

R,=1,/Vv, a4

=50, 000, 000/323, 382, 843
=0.1546

[=ZH33) Y27t M 52 ofy 80000008 CS 532 i9 12,000,008, 2 e 442
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1. HP-12CE& olg

8,000,000 g CFj

5 g Nj
12,000,000 g CFj

5 g Nj
15,000,000 g CHj

3 g Nj
215,000,000 g CFj
10 i
then, f NPV = 129,569 714
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=80, 000, 000x5.018769 + 0.80xV ,x0.247185
=401, 501,520 +0. 197748V,
0.802252V , = 401, 501, 520
V=500, 468, 000

(2RI35] o £AUE 10000000822 oflsT, giryael @ FEYY Jxl= BRI 104 =
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253 M7t 44 &F 44822 Y=R+CR 2EE AR
Y=R+CR
0.12=R+0.03
R=0.09

V=I/R
= 10, 000, 000/0.09
=111,000, 000 -

(X)) FS0| 84 287)2 Sot oy 20,000,000 A4S W7\ Z SIHCL SRR 15%
o R $eEg o2 £ Udg 2102 nusim 200,000,00081-8 X)E3idct FAAK= 8
ER712 Yo LS4 7ix)7} dopt = A2 T(chsk=71r &, 84, 1502 mo) 02H7 x|
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2 A = 10,000,000/0.1025 = 97,560,976
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[EH40] AlZ2l 27780 14%Y AT, 10%, 254 HEQY 71082 FXI3H 10,000,00082! 7h|
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254, 10% &9, 4% | (B4, (1012)% | (5724, (1412)%

o f7FR A% | 10.834706 | 26.461916 12.056945 32.451308
HEF7HAT | 98.347059 |181.870827 1326.8334 2695.8264
A7 5T 0.010168 0.005498 0.000754 0.000371
QA7 A 0.092296 0.037790 0.08294 0.030815
d2E7 s 8.077040 6.872927 110.04723 83.072966

e 0.110168 0.145498 0.009087 0.012038
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= 90, 870+83.072966
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(25M12)A,(10/12)% | (151284, 10/12)% (25‘12)5.(12/12)% (1512)49.012112)%
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